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Name: _______________________ 

Addition Equations 
To solve each addition equation below, subtract the value being added to the variable from both sides 
of the equation.  Example: 

3 + y = 9 
(3-3) + y = 9      Subtracting 3 from the left side will leave only y on the left side of the equation. 
y = 9 – 3    Now subtract 3 from the right side of the equation. 
y = 6     Value of y is 6.  Substitute 6 for y to check your answer: 3 + 6 = 9. 

Note: We could have simply subtracted 3 from 9 to obtain the answer in this simple equation.  
The steps above are provided so that the fundamentals of solving equations are understood.   
These are important concepts for building an understanding on how to solve more complex 
equations. 

a + 99 = 120 v + 22 = 62 l + 82 = 107 

x + 77 = 140 92 + m = 100 9 + c = 14 

22 + y = 33 22 + g = 97 h + 22 = 67 

r + 67 = 184 k + 74 = 120 j + 33 = 94 

a + 74 = 127 f + 87 = 147 m + 62 = 88 
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Addition Equations 
To solve each addition equation below, subtract the value being added to the variable from both sides 
of the equation.  Example: 

3 + y = 9 
(3-3) + y = 9      Subtracting 3 from the left side will leave only y on the left side of the equation. 
y = 9 – 3    Now subtract 3 from the right side of the equation. 
y = 6     Value of y is 6.  Substitute 6 for y to check your answer: 3 + 6 = 9. 

Note: We could have simply subtracted 3 from 9 to obtain the answer in this simple equation.  
The steps above are provided so that the fundamentals of solving equations are understood.   
These are important concepts for building an understanding on how to solve more complex 
equations. 

a + 99 = 120 
a + (99-99) = 120 

a = 120 – 99 
a = 21 

v + 22 = 62 
v + (22-22) = 62 

v = 62 -22 
v = 40 

l + 82 = 107 
l + (82-82) = 107 

l = 107 – 82 
l = 25 

x + 77 = 140 
x + (77-77) = 140 

x = 140 – 77 
x = 63 

92 + m = 100 
(92 – 92) + m = 100 

m = 100 – 92 
m = 8 

9 + c = 14 
(9 – 9) + c = 14 

c = 14 – 9 
c = 5 

22 + y = 33 
(22-22) + y = 33 

y = 33 – 22 
y = 11 

22 + g = 97 
(22-22) + g = 97 

g = 97 – 22 
g = 75 

h + 22 = 67 
h + (22 – 22) = 67 

h = 67 – 22 
h = 45 

r + 67 = 184 
r + (67 – 67) = 184 

r = 184 – 67 
r = 117 

k + 74 = 120 
k + (74 – 74) = 120 

k = 120 – 74 
k = 46 

j + 33 = 94 
j + (33 – 33) = 94 

j = 94 – 33 
j = 61 

a + 74 = 127 
a + (74 – 74) = 127 

a = 127 – 74 
a = 53 

f + 87 = 147 
f + (87-87) = 147 

f = 147 - 87 
f = 60 

m + 62 = 88 
m + (62 – 62) = 88 

m = 88 – 62 
m = 26 


